Algebra Rectangles (A)

Name: Date: Score:

Determine the Value of x, Length, Width and Area for each rectangle.

5x + 34
Perimeter: pm
~ Value of x: um
:’_ Length: um
2 Width: um
o Area: um
8x — 19 Perimeter: m
2 Value of x: m
+ Length: m
§ Width: m
| Area: m?
5x — 17
Perimeter: nm
o Value of x: nm
T Length: nm
I Width: nm
o Area: nm
—3x 423
Perimeter: cm
cl?) Value of x: cm
+ Length: cm
= Width: cm
\e)
[ Area: cm
—5X—35
Perimeter: ft
E Value of x: ft
| Length: ft
ﬁ Width: ft
I Area: ft2
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Algebra Rectangles (A) Answers

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
5x + 34
>~
on
+
=
(@)
- 8x — 19
—
+
=
(@\]
|
5x — 17
(@)
o
|
~
(@)}
—3x + 23
>~
on
+
><
\O
|
—5x—5
<t
—
|
x
T

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

um
um
um
um

B 8888

nm
nm
nm
nm

cm
cm
cm
cm
cm

ft
ft
ft
ft
ft?
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Algebra Rectangles (B)

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
" —3x + 40
+
=
>~

|
—6x + 26
#
—
+
=
O
[
—4x + 37
—
[\l
|
=
(V)
—3x + 27
O
on
|
=
(@)}
8x +2

6x—1

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

B8 8BBB

[ 5]

cm
cm
cm
cm

in
in
in
in
in

yd

yd
yd
yd?

ft
ft
ft
ft
ft?

Math-Drills.com




Algebra Rectangles (B) Answers

Name:

—7x + 57

Date:

Determine the Value of x, Length, Width and Area for each rectangle.

Perimeter:
—3x + 40 Value of x:

Length:

—6x + 14

Width:
Area:

—6x + 26

Length:
Width:
Area:

6x—1

—4x + 37

5x —21

Length:
Width:
Area:

9x — 36

—3x 4+ 27

Length:
Width:
Area:

8x + 2

Length:
Width:
Area:

Perimeter:
Value of x:

Perimeter:
Value of x:

Perimeter:
Value of x:

Perimeter:
Value of x:

B8 8BBB

[ 5]

cm
cm
cm
cm

in
in
in
in
in

yd

yd
yd
yd?

ft
ft
ft
ft
ft?
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Algebra Rectangles (C)

Name:

Date:

—5x + 33

Determine the Value of x, Length, Width and Area for each rectangle.

—5x + 58

8x+ 6

4x — 21

—7x + 80

Length:
Width:
Area:

4x — 20

Length:
Width:
Area:

—4x — 15

7x + 63

Length:
Width:
Area:

5x + 12

Perimeter:

Length:
Width:
Area:

—7x + 49

Perimeter:

Length:
Width:
Area:

Perimeter:
Value of x:

Perimeter:
Value of x:

Perimeter:
Value of x:

Value of x:

Value of x:

cm
cm
cm
cm
cm

in
in
in
in
in

3885858

yd
yd
yd
yd
yd?

um
um
um
um
um
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Algebra Rectangles (C) Answers

Name: Date:

Determine the Value of x, Length, Width and Area for each rectangle.

—7x + 80
o0
(V)
+
=
(V)
[
4x — 20
—
@\l
|
><
ﬂ.
7x + 63
(V)
—
|
=
ﬂ-
[
5x +12
O
+
=
[ole]
—7x + 49

—5x + 33

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

cm
cm
cm
cm
cm

in
in
in
in
in

3885858

yd
yd
yd
yd
yd?

um
um
um
um
um
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Algebra Rectangles (D)

Name: Date: Score:
Determine the Value of x, Length, Width and Area for each rectangle.
—8x —27
Perimeter: nm
n Value of x: nm
:"_ Length: nm
= Width: nm
=~ Area: nm
8x + 74
Perimeter: in
§ Value of x: in
| Length: in
= Width: in
O
[ Area: in?
—5x+43
Perimeter: ft
@ Value of x: ft
+ Length: ft
= Width: ft
o0
I Area: ft2
Perimeter: cm
™ —7x+24 Value of x: cm
[ Length: cm
§ Width: cm
Area: cm
2x—2
Perimeter: yd
o Value of x: yd
‘T Length: yd
2 Width: yd
= Area: yd?
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Algebra Rectangles (D) Answers

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
—8x — 27
on
?
+
=
>~
8x+ 74
*
(@\]
|
><
O
|
—5x + 43
o
(Ve)
+
=
[o.e]
|
n —7x + 24
—
|
>§
©~
2x —2
o
[\l
|
><
e

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

nm
nm
nm
nm
nm

in
in
in
in
in

ft
ft
ft
ft
ft?

cm
cm
cm
cm
cm

yd
yd
yd
yd

2
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Algebra Rectangles (E)

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
—9x — 21
*
(@\]
|
><
o~
|
—8x —43
on
O~
+
~
(@)}
5x — 12
ﬁ.
o
+
=
v
|
—5x + 45
(@)
(@\l
+
=
on
|
8x —4
(e}
—
+
><
T

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

ft
ft
ft
ft
ft?

B8 B8BEB

cm
cm
cm
cm
cm
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Algebra Rectangles (E) Answers

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
—9x — 21
*
(@\]
|
><
o~
|
—8x —43
on
O~
+
~
(@)}
5x — 12
ﬁ.
o
+
=
v
|
—5x + 45
(@)
(@\l
+
=
on
|
8x —4
(e}
—
+
><
T

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

ft
ft
ft
ft
ft?

B8 B8BEB

cm
cm
cm
cm
cm
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Algebra Rectangles (F)

Name:

7x + 14

Date:

Determine the Value of x, Length, Width and Area for each rectangle.

—3x + 34
(@]
(@]
+
><
[@\l
|
4x + 42
>~
—
|
=
(V)
|
3x +41
—
<
+
=
on
2x + 18
(V)
—
+
=
(q\l
—5x + 10

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

yd
yd
yd
yd

2

58883

cm
cm
cm
cm
cm
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Algebra Rectangles (F) Answers

Name:

Date:

7x + 14

Determine the Value of x, Length, Width and Area for each rectangle.

—3x + 34
(@]
(@]
+
><
[@\l
|
4x + 42
>~
—
|
=
(V)
|
3x +41
—
<
+
=
on
2x + 18
(V)
—
+
=
(q\l
—5x + 10

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

yd

yd
yd
yd?

B8 B8BEB

[ S}

cm
cm
cm
cm
cm
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Algebra Rectangles (G)

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
™ 5x + 28
+
~
e}

3x+1
(Vp)
|
~
o0
—4x + 45
o0
(@\|
+
=
(@\|
|
6x + 59
(@)
|
><
[@\l
|
3x+4
=
3

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

yd
yd
yd
yd
yd?

in
in
in
in
in

B 8888
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Algebra Rectangles (G) Answers

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
™ 5x + 28
+
~
e}

3x+1
(Vp)
|
~
o0
—4x + 45
o0
(@\|
+
=
(@\|
|
6x + 59
(@)
|
><
[@\l
|
3x+4
=
3

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

yd
yd
yd
yd
yd?

in
in
in
in
in

B 8888
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Algebra Rectangles (H)

Name:

7x — 10

Date:

Determine the Value of x, Length, Width and Area for each rectangle.

Perimeter:
Value of x:

—8x — 50

2x + 15

Length:
Width:

3x—15

Area:

9x — 53

Length:
Width:
Area:

—3x+1

5x 4+ 19

Perimeter:

Length:
Width:
Area:

Ox — 43

—2x + 20

Length:
Width:
Area:

6x—3

Length:
Width:
Area:

Perimeter:
Value of x:

Value of x:

Perimeter:
Value of x:

Perimeter:
Value of x:

yd
yd
yd
yd
yd?

B B88BB8

nm
nm
nm
nm
nm

cm
cm
cm
cm
cm
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Algebra Rectangles (H) Answers

Name:

7x — 10

Date:

Determine the Value of x, Length, Width and Area for each rectangle.

Perimeter:
Value of x:

—8x — 50

2x + 15

Length:
Width:

3x—15

Area:

9x — 53

Length:
Width:
Area:

—3x+1

5x 4+ 19

Perimeter:

Length:
Width:
Area:

Ox — 43

—2x + 20

Length:
Width:
Area:

6x—3

Length:
Width:
Area:

Perimeter:
Value of x:

Value of x:

Perimeter:
Value of x:

Perimeter:
Value of x:

yd
yd
yd
yd
yd?

B B88BB8

nm
nm
nm
nm
nm

cm
cm
cm
cm
cm
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Algebra Rectangles (I)

Name:

8x — 58

Date:

Determine the Value of x, Length, Width and Area for each rectangle.

—6x + 39
(@\|
—
|
x
\O
6x — 34
(e}
on
+
=
(@\]
|
—8x —24
?
(Ve)
+
=
(o]
5x — 27
—6x — 28
on
<t
|
=
T

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

um
um
um
um
um

yd
yd
yd
yd
yd?

nm
nm
nm
nm
nm

cm
cm
cm
cm
cm
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Algebra Rectangles (I) Answers

Name:

8x — 58

Date:

Determine the Value of x, Length, Width and Area for each rectangle.

—6x + 39
(@\|
—
|
x
\O
6x — 34
(e}
on
+
=
(@\]
|
—8x —24
?
(Ve)
+
=
(o]
5x — 27
—6x — 28
on
<t
|
=
T

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

um
um
um
um
um

yd
yd
yd
yd
yd?

nm
nm
nm
nm
nm

cm
cm
cm
cm
cm
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Algebra Rectangles (J)

Name:

Date:

Determine the Value of x, Length, Width and Area for each rectangle.

—-9x + 72

2x + 20

—6x + 48
w
(@\|
|
2
\O
6x — 28
2x —11
#
<
|
2
O
—4x — 19
2x + 23

8x + 22

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

BB BEB

[ S}

um
um
um
um
um

km
km
km
km
km

in
in
in
in
in
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Algebra Rectangles (J) Answers

Name:

Date:

Determine the Value of x, Length, Width and Area for each rectangle.

—-9x + 72

2x + 20

—6x + 48
w
(@\|
|
2
\O
6x — 28
2x —11
#
<
|
2
O
—4x — 19
2x + 23

8x + 22

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

BB BEB

[ S}

um
um
um
um
um

km
km
km
km
km

in
in
in
in
in
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